ASSEMBLY INSTRUCTIONS

Try our best to serve you better

If the product is damaged in shipment or has any installation problems,please contact us via

email shuanghu@shuanghu.shop, and we will solve it for you.
Free replacement for shipping damaged or missing parts.

ASSEMBLY INSTRUCTIONS

Try our best to serve you better

Install the mechanism @ and armrests @ on the Install the footrest plastic h si
seat @ with 4PCS M6X25 @ and 4PCS M6X25Q 0 the seat @ with 4PCS Mﬁp)?gs‘z g sl

DO NOT tighten screws
completely until all the
screws are fixed In the
correct position

© BACKREST © SEAT © HEADREST @ MECHANISM © CASTERS @ ARMRESTS O BASE
- S5pcs
\ D
&) 2 k= § O
O]

y =
.’ O LUMBARPLLOW @ GasuFT @ STEELPLATE @ ALLENWRENCH @ FOOTREST
[7 1pc PLASTIC PART

N ” ﬁ | 2pcs =
2 y The base is incomplete and
needs 1o be assembled.

Screws Pack Bag: @ rooTREST (D CHAR HOLDER

T ©@ M6*35 4pcs 1 @ Small Screw M4*16 1 pc

1. Thank you for choosing this Shuanghu product. Before read the user manual carefully and keep

it for future reference.
2. If the screws are missing, please contact us in time via shuanghu@shuanghu.shop.

o Place the base upside down, insert the holder@® @ Install gas lift @to the base @ .
and insert the casters @ into the bottom of the

NOTE‘ASS"WNV is;recommended to be carried out by two people.

Preventing the screws ffﬂy\ Ibaﬁ‘e_ping requires tightening after using a period of time.

r® Wrench 1pc 1 @ M6*25 13 pcs
— 0 Cx==®

Put the footrest @ on the bottom of the seat ®

with "@ ™. @ Put the seat (Dto the gas lit@ .

@O t—_ | @smau
SCREW

twa directions, The screw* * does not need to

reful not to [nstall be fully screwed in, it's function
1 to prevent the footrest fram
being pulled out,

Digitalizado com CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

